
Premena jednotiek objemu - 2. 

 

 

 

 

 

 

 

 

 

Premeň jednotky dĺžky a objemu: 

12 m = .................................cm 

12 m3 = ...............................cm3 

1,5 m = ................................cm 

1,5 m3 = ...............................cm3 

16 m = .................................dm 

16 m3 = ...............................dm3 

4 m = ..................................mm 

4 m3 = .................................mm3 

22,5 m = ..............................cm 

22,5 m3 = .............................cm3 

14,2 m = ..............................dm 

14,2 m3 = .............................dm3 

120000 cm = .............................m 

120000 cm3 = ...........................m3 

1800000 cm = ..........................m 

1800000 cm3 = .........................m3 

13000 dm = ...............................m 

13000 dm3 = .............................m3 

16300000 cm = .........................m 

16300000 cm3 = .......................m3 

89000 mm = ............................cm 

89000 mm = ............................cm3 

2740 dm = .................................m 

2740 dm3 = ...............................m3 


